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門に対して縦にしても横にしても入らない、竿の長さを調べたい。
棒の長さをX尺とすると
BCに入れようとすると門から4尺はみ出し、BEに入れようとする
と門から2尺はみ出す。
BDに入れようとするとぴったりになる。
これらを式で表すと、
△ABDで三平方の定理より
(X－2)2+(X－4)2=X2

X2－4X+4+X2－8X+16=X2

X2－12X+20=0
(X－2)(X－10)=0

X=2、10
X－4＞0すなわちX＞4よりX=10
1尺は30.3cmより10尺は303cm
よって棒の長さは303cm
よってBCの長さは303－121.2(cm)より181.8cm

AB    ``     303－60.6(cm)より242.4cm
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出
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縦
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出
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縦
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初
め
に
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曲
尺
を
用
い
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寸
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寸
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さ
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引
く
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そ
し
て
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寸
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と
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辺
の
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に
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た
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う
に
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ン
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縮
め
る
。

そ
の
と
き
、
斜
辺
の
長
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あ
る
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つ
ま
り
、
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。

こ
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う
ち
竿
の
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ま
た
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引
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つ
ま
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よ
う
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々
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夫
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べ
き
で
あ
る
。

Method of measuring the length of the gate and the pole using the 
Pythagorean
To gate, even if the vertical you want to examine the length of the rod that 
do not fit even on its side.
The length of the rod I to X scale.
If you try to put in length BC to protrude 4 feet from the gate.
If you try to put in length BE to protrude 2 feet from the gate.
If you try to put in length BD to become perfect.
When representing these in the expression, than the Pythagorean 
theorem in △ ABD
(X-2)2＋(X-4)2=X2

X2-12＋20=0
(X-2)(x-10)=0
X=2,10

X-4> 0 in other word X> 4 than X = 10
One feet than 30.3cm, 10 feet is 303cm
Therefore, the length of the rod is 303cm
Length BC is 303 (cm) -121.2 (cm) = 181.8 (cm)
Length AB is 303 (cm) -60.6 (cm) = 242.4 (cm)

You passed through the gate with a rod.
When you next to the rod, gate protrude 4 shaku

When you vertical rod, and 2 shaku protrude.
In addition, when the rod diagonally, it is the same size as the 
diagonal of the gate.
Showed a vertical length of the gate, next to, of the hypotenuse is a 
diagram.
First, using the carpenter’s square, draw a line the length of the 2 
and 4 sun.
And, to shorten the compass to hit the three places of 4 suns and 2
suns and hypotenuse,
when contracted compass, length of the hypotenuse is 1 feet.
In other words, I can see the 1 shaku is the hypotenuse of the gate for 
fig.
Of these become vertical gate and pull from the length of the rod 2 

shaku.
Finally it is seen as 6 feet to become pulled 4 feet and next to the 
gate from figure length of the rod out of 1 shaku of the hypotenuse of 
the gate.
Also an inch in this figure represents the actual 1 shaku.
In other words, the hypotenuse is seen as the 1 shaku, of the gate you 
were 1 shaku.

It should be in this manner the various ideas.
A person in charge:Yamamoto and  yoshida

Measurement of the length of the gate and rod using 
the Pythagorean theorem

English translation

To determine the length of the rod entering 
When diagonally gate was determined using the 
Pythagorean theorem.

As much as possible to the exact English auditors.
Because took me some time to understand the 
modern translation, now you want to be able to 
understand a little more quickly.

Modern translation the summation, it was hard to 
have to fix in English translation.
Was impressed by looking for length using the 
Pythagorean theorem is also a long time ago.
Measurement method and you're using the familiar 
ones, such as rod, where you are using a calculation 
method such as that modern times also used it I 
thought it was amazing.

Group leader Yokoyama
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